> P B 3

MEEH LI N

Q\) @
&C/i X e
\ .
Y ‘/J\QQE%;@ /JG‘QEEQ?'E%E ~ wem o \ =
eT Wy, AN - SR . —]
= &%L\UJ% NG R VARZE é L 3¢ 43
= : \ ) s
[ ~-]— mum
? 6 7/ 8
\ £ N \
< 9 10 /11/ 12 13‘}/
\\ AM
. -
\14 15 16 (-1;'*' 18
\ ' BFRM
\; f !
1 ?\;—’EGN\AE% '&8
s@m__/ ‘ ;
¥ N
e o~ 84‘3
A [
: f i
— B
I
RAHEE
B |~ 5
4B’
T 48" ‘0’10
i =3
A37.2 = B &
] =a=m
®12.04 % # &
£55mn ©14.8 ER -
2
1] v37.2 REEXLF
. AR EE S
CT] wawme | 21204 KRS
K1204 mzmzs
. EAL R
T mseame | 00 BUESS
87 CEPEBR
[e] B A B oo M
AN # H o B M
A ® B 1 B ®
<> B OB B L g = B
e® 5 & B 2 bs &
K AMERR N % % @A
X % & + T3 5
v o R — " B
@ WERER L BRI
1 Edi - S
@) RoHEm 'l NYZ YRS n
H il # Q SRITR (R
t * B 2 T (S13EH)
+ FUZRNES s B - A2HF
X ¥ # o E 2 #
@ SR - REE (@] 5 v b
DAY - ARK i = =
m ZAK— LA a A =R B -
® ® @ A 'y B B %
P » B Vo A L
8 ® I H@ x a
®@ G zz} K T8 A A
") B [ Ro8 T -
PN XN OE OmE o b o
Eo? I 5 =) A - BSO
O z B R dib BR - MR
2 15 - B MS [\ OB B
H VU
® 25 ® B ® 8
Q B ] " &
_ # T #
. £ = A& o HTHSHAD
V--2 ABAFEBRE
A 0
I— 7: =
— E B & ;
— < (#E#R) B A & A
_______ P % OE #% E
““““ L B % #% H
:——_:——: ﬁE- % & 5 -
“@ED . RRNOEH “@ED_ pRYO#E
; = —— 5 WS HE-o0 osyph—n
7 7 ========= ROE MRS
//
/3 —T ® B & =L s & =
ES
“.6 I —— 4
£ T # O R T T
N ooy BESER =
=N TR EROSELF —°—= o & 8 K
e
. e U ol % ® oW
e TV [ —— E ® R
AT #@
Reunza i L B & =
B S b 3 ——— # # ®
BTH - grEHm
———— B F R R | ——— VR
———— 4 I~ z
ABEDRFR - J
—— gm«gmg . % B =
1 ) _ ih
LB o |REE| |
v [e] ZOMD NG
| o= o |SYER L o |
D o, s Lo
02 JqFu| e s % T B U R
o |7 o o |® H| T T |®m #
Y A P S
J1E R E R m B i
= ml oo |n o w
~
1]
9’.
I
>
£
£
7D
) /QAO
YL HH
L5
) ﬁb‘[
B | Kgda)
g -/
}Q Q

- FERX 8 F 7 A B E R BIXR 1:2 500 CORERRE. B HEBREOMEEDSITCTELETDTCHD
B = ERX QO F 3 B BFREBDSR 11 FEARMHRE 2m T e (BWEES) F238A $40%

w® & FE11%E 1 B o 80 100 . 200 . 300 . 400 . 500m

£ E FER12F 2 B COEEF. $M2E1 22 7THCHBELEARPTBEICLIEETH D, ZORERRE. B HEBREOMEAZICHRLETDTHD
32 FRI15F 128 (BhE&ES) F28KA %945

£ E FER19%F 3 A

B & FEH22F 128 CORERRE. B HEBEREOMERASITITCHELEDTH D,
£ E FER23F 12 A (hE®S) % 3EA £98%F

| % FER27TE12A8

£ E FER28F 12 A

B’ ¥ S 2128

A = %M 3% 7A

& E $M 3F12A8



